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§ 2008 年 

1. 2 2C={ 1 0 }x y z     is a circle。 

Can you find a smooth differential 1-form dx dy dz       in 3R C ，

which is closed but is not an exact differential？ 

If not，prove such differential do not exist by deRham cohomology or any other 

method。 

If yes， ? ? ?dx dy dz     
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z y   is an elliptic parabolid。 

x-y+2z=4 intesects this paraboloid in a planar curve so its torsion 0  。 

At the point (2,0,1)，is it correct that crvature 
37

6
22

K  ？ 

If not，K=? 

 

 


